BREEODRBREECEHLEEDMREEIZDONT

20181 A~3AH BXBM HHE

& L2155

1 BHO#HR(KERE)OFHREBEBEIVITNIICELET ., TRO1~50FM51DRBAT
BEALEZEN, T BEOHE (REE) (XRARKBTTH. TRD6~100FMi51D:E
ATHEEZLESL,

O 7l fiF oOX% BRIt
p 20851 308K 13
= aomett [ 18 |18 2] 43
fl; 508 [ 14 ] 23| 8 ] 45
& 60% 1 36 [ 25 s 14
] 708t LA E 22 | 13 [7] 4

CE A 29 | 5% a5 79
g 28 E 4112 }I 3 [ 207 o8
& 3B | 13 | 10:}5] 28
) att8 [ 6
ﬁ 5fEBLE | 0
0 20 40 60 80 100 120

2 RLELEEOOICE, HERERRE) ORELSKIITYT, R (RERE) DEADHEE
fEl (EEICEOLERR) (X, 1BRSHYICTHEEDEETIHN, 1 ~50HHI51DRA

THEEAESW F-. &

PHMELDEEDHEETRIHTTUWETH, FRRO6~10DF

DoRBATEEALES,
0 5l iF oDX5% =) P4
somstix® | 23 | 17 |7 51
35 | sommisoommsn | 36 | 38 [ 2t ] 0
g 6ORRILL EBOR MR | 24 }| 2% [] 54
RS | somsmiLLE 1008 AR 12
1005 LLE [[ﬂ 8
VECTELLE | 75 70 e R
= 2~af1m [8] 12 | 22
'-;I'? 5~10%(C1[E] ml 4
5] n
B 10FLERHTUEL || 2
gHrcennL || 2
0O 20 40 60 80 100 140 160 180 200

1/3R=2



m3 RIS, HE(RRE) 0L A ORAZET1H AMOKEERBE(ShLLET, &
HTIE, EOBREQEBBENTRTT D, 1~50HMD1 DBATHEZTE, =
f-. KBEBIBIZDEREN B DOBEDET OELZED LS HLDTT A, 6~100
hAD, BEUTEESLDE1 DBATHEZ R,

0 7l fiF BN\ o2t
{* B BRI RBITHE | 56 | { m Yoe { | 126
E sExpcBoRGTE] 21 | 24 |9 54
0 | xemczmemnLe e (96 17
i EBREIT T8 (K%, ) | 13
% mwsm\m] 7
R BT ROET [ 31 [ 31 [ 16 ] 78
i R A BEEDIE T 23
~ aernosit 4] 5] 1
o :
g o[ 2 | 12 18] 41
= DERLTLEL 25 | ‘ 23 [t 59
0 30 60 90 120 150

4 MEBICHKEVT, HE(RRE) DA T HORI[ETIAAMOARBERBECSNI-ELE
Yo BALICIE, KEPOHE (RRE) DEXEZRITTEOIABNET M 1~100 M5
12, ZBATREFEILDERATEEALLES,

o 31| fF oX5n =l =Pd
RiEE 19 I} 13 f27] 39
Fiit [ 20 17 6] 43
# [5 |9 |4l 18
B (LE1~3L40) L [ 514 18
BB HEE GRS [ 2 | 7 357 e
MRS A |
Rttt [2]] 5
zot |
Ba0kbIEVEN (B 18 4] 23
KEET 3O DNELER [] o
0 20 40 60 80

2/3R—=



s HE(REE) CEBRLET, HHT-ORANLRENERFTT M, 1~1005M5BK3

DETGRATHEEZLIESLN,
o 7l fiF oX4% =]=Plg
HECHITDERME 24 | 5 [ as } ] 63
HATOREET (1 BHkiTE) [[[] 4
RIREDSNBL [ 33 | 21 9] 63
iLER . BAED. K57 7% 0] 7 5] 22
ﬂﬁi 19 [ 22 T Y
@mi 28 [T 17 [ 8] 53
EE - AR—Y [ 22 [ 25 107 57
k- 185 GER - AK—U5) [ % T 77 [ 75
zoft [ 3
AL ERE [5]] 6
0 30 60 90

3/3R—=T



